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Chandigarh TGT Paper-A 22 June 2024

Eilsl
x. Zhe famous Ajanta and Ellora 1. wiag o AN ug—?";'[ & T
aves are located i i i =
State? cated in which Indian DR E! H
(a) Maharashtra ,jn) TERTE s
(b) Madhya Pradesh b2 _ & (b) " b CEll
(c) Rajasthan
c) T
(d) Karnataka
(d) FATEh
2. With reference to Indian history, _
the commonality that leaders 2 mﬁﬁgsﬁﬁmeﬁﬁzﬁﬁ,?ﬁnaﬁ %@&;"’;
Kristo Das Pal, V. N. Mandlik and " e, deTs HISD 3R Td
Rash Behari Ghosh had, was that ; [ of, R Eﬂfﬂl
(a) they all were Presidents of ; o
the Indian National (a) oft A i HiirE % 3T
Congress
(b) they all were revolutionary (b) wft ﬁﬁz 3
e a Ie .
leaders who preached armed e I TR
struggle .
(c) 1852 # Tisq =i THIEGA
(c) they were part of the T
Bombay Association formed
f o _d) - Y FEEH aiug &6
(d) they had been the members e
of Governor-General's _.
Executive Council :
3, Prefafes 3 @ F9-T 7§ T8 RS
3. Which of the following rivers flows 7 A B Tt R @ SR i EAl R 7
through or forms the border of -
the most number of countries? (a) =
Volga
e b m
~ (b) Danube
. I
s fe)
.-(d) .Mekong - (d)

.....
.........

GENO1/15-A (3) =25 Tl :
[PT.C
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jrii1 &l
ext world,
N iada
4 In t is of B olimpia
I'Csoust u Grasbc '
art
[b} jron
(c) gold
(d) diamond
The term 7osurabalpin’, recently
5!

geen in the ncws, 18

a new class of antibiotics
“ (hat can tackle drug-
resistant bacterial strains

(b) & Fixed-Dose Combination
(FDC) drug that aims to treat
rabies in dogs

([ & new treatment developed
~" for last stage cancer

(d) & herbicide banned due to
its hazardous impacts on
human brain

6. In a group, 20 people like cricket,
15 like hockey and 12 like horse
riding. One person likes all the
three games, 5 people like both
cricket and hockey, 3 jike both
hockey and horse riding and 2
like cricket ang horse riding.
What is the total Number of
People in the group? )

(a) 40

(b) 38

(c) 48

T

5!

6.

R SN s . ]

(a) e m"“!q
(b) r-hm |
(c) J
(d) &
LA T . ﬁ
'?’.Tﬂ’mﬁ?{'_____gl ™ %,
{f.l] iél {I ‘Illéq; Wﬁf EﬁTEW?‘nT
S AN fram i e
0§ :

(b) o fiftme g (Tt
T

(c) it o % e 3 forg e
1 IR

|
(d) "Me Afers W oo e s
HV Woa i it |

W Fg 1, 20 T Bkt woig F §, 15

wg'ﬁwﬁﬁ“ﬁﬁ@ﬂtﬁiﬁm
& frke ok &b 3t v w4, 3

forche 3R yowarlt i+ §) W ¥

=l i T aEm w®m R?

(a) 40 =

mas %,
He ',14,_

(c) 48 L:/}

(d) 45 L
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.. ~lace of the
what will € K in the above

f Palmyra <Date palm, Date
palm < Queen palm and Queen

the following is always true?
la) Palmyra > Caryota

(b) Palmyra < Queen palm
[c) Date palm = Caryota

(d) Date palm > Caryota

9. Find  the

quadrilaterals in
figure :

&) a2
(b) 26

[c) 28

g 3p
m

palm > Caryota, then which of

number of
the following

—

(a) 32
(b) 26

(c) 28
i Bi/’l—ﬁﬁ\

(S)
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at multipie 1EUS
qir of sCisSOTS.
as to be cut
akes

s scissors PEr
would be

h hi

(d) 120 rolls

A bus starts from city X. The
number of women in the bus is
half of the number of men. In city
Y, 10 men leave the bus and five
women enter. Now the numbers
of men and women become
equal. In the beginning, how
many passengers entered the
bus in city X?

11.

(a) 25
(b) 35
(¢) 45
(d) 55

12, Which of the following is the least

- Possible fraction that wij] get

divided by each ¢
ne
and 10/277 °f5/18,8/9

l

(s

__1____"___‘_--—-.__
10. @ i H‘ﬁ;’?

ﬁﬂzqﬁ;ﬁm A h
(@) 30 t=
(b) 58 Um
A€) 108 T
(d) 120 U=
11. 'Q.ﬂ-] g9 m X ﬁ i
TSt 905
%IWY‘EI, logﬁqwﬁﬁ:ﬁ:;
e e i 1
. EUEIR R Cil ﬂﬁmﬁﬂl:
%ﬂqmﬁﬁ#wﬁmm;ﬁ
(a) 25
(b) 35
et 45
(d) S5
12. ﬁnﬁrﬁaaﬁéaﬂﬁ—maa‘ﬁﬂﬂfﬂ
2 515/18, 8/9 3 10/275F
¥ fywrfora g Smom?
(a) 25/9
(b) 40/9
(c) 25/3

(@ 81/%
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13. is a device that connects an 13, T 3UHT R N UF wa
organisation’s network with the F 30 &I T <P & e %l
outside world of the Internet. -

(a) &
(a) Hub
(b) WieH
] Modem
(c) Gateway (c) WA
(d) Repeater (d) frfte

14. By restricting the server and 14, TR AeHa w5k 3 T 91 e

encrypting the data, a software i, T T T S fra

r’ i thicall e ia feln g o p h
Goassncd in order to obtain T R 5 w7 s e
o . ; wFwE gl s 2| evemE T aw w2 e
sensitive information. The A & fra 3 g
attacker blackmails the company STH EF‘F“HEFI 0 29 & fem
to pay money for getting access AR W\"ﬂ ? 3R dma = UGICS :rgT’
to the data and threatens to T T TSI A T g i
publish sensitive information YR Sl 81 30 T8 o gl I 50 w9 1
unless price is paid. This kind of AT AT R ?
attack is known as

finfem

(a) phishing (a)
(b) identity theft (b) 3ImEfed aw
(c) plagiarism (c) woriReH
..l'.d“]' ransomware l:d) '{.H.q-am

15. Collection of hyperlinked 1 . -

5. $eCe W e EETeES GEEsl &
Eﬂncuments available on the ; 3??{ P 3 < T 1
Internet is known as TR ____ W
a) website (a) <EwTRe
(b) webpage (b) I
(€) web
server (c) 3= =
(d) web hostin
g .
q dmamm
GENO1/15.3 7 ) FT0.
h___
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S Halaxy Eisoit

made an
has pigital
S . emen L

advcrllsf’tmﬁc is facing dlfﬁffule
pocumer™ ~ *.1 e images within

: itioning H% % can
. p::;lt Suggest him how h
the text:

adjust the image-
(a) wrap text
(b) word Art
(c) Alignment

(d) Layout

Which of the following enables
users to view, enter and cl.lange
data directly in database objects?

17.

(a) Report

(b) Query
(c) Form

(d) Database

18. Rahul and his partners have
created a list of their company
employees in one of the
spreadsheets in the office. Now
the rest of the task they want tq
complete from home. Which
option should they yge to accesg

thC same Spreadsh
home? cet from

(a) Consolidate Worksheet
(b) Link Worksheet

(¢} Merge Worksheet :

i Losk Worksheet 1
OENO1/1

|
|
|

17. fm & 3 a7, swdimarisi 3 75
eI § i 2 39, o wn
qTe # wEw T 27 (
(a) fé |
(b) et
(0) i

Ad) STy

18. TR 3R I WAl 3 Fafed ¥ o5
dhetie § o1 e & el 9 o

FE 91Ed &1 T 3 Drswhie 7 g,
¥ forr @ Rrw s &1 IR @

aRe?
(a) Faree e
_b) fr weheie
(c) W e
d) e Tehafie
(d) N
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T

e

20.

21‘

_a)

19. At the bottom of each worksheet

left tab indicates the of the
worksheet in g workbook.

(a) size
(b) type
4¢) name

(d) color

A refers to a cell or a range
of cells on a worksheet and can
be used to find the values or data
that you want formula to
calculate.

cell reference

(b) block

(c)
(d)

sheet reference

autofill

Rajiv was asked to highlight the _

cells with green colour where the
value entered is either greater
than or equal to 120 in the
worksheet containing thousands
of data entries. Which feature of

20.

21.

A ) 3 e gl

(ﬂ) A ES

(b) T

©

(d) HH

el 9 O &t a1 Aew it Avh

7 i T & 3 FEeR I I A
a1 321 1 Gt 3 ferg Feean o wrhe @ S
37 e & TOAT HEHT e 2

(a] ﬂﬁﬁ%ﬂ

(b) =T

(c) TR ImE

(d) s

e F R 2 SfafEt arelt Teheie |
i W R W g FH F fg

T o W&l &« AW 91 a 120 ¥
s & 97 I TR 2| W BE B
e 1 QU W & R 38 Hed’ i e

‘Calc’ should he use to get this T =1 I A A ?
work done within seconds? ah o g e

_ta) Conditional formating ) mm k
{ia] Filtering (b) Rceftn i
© Sorting i, o W sk
(d) Simplé-fonﬁ.gtgt_ilr_lg___. (d) ﬁlma ‘mﬂﬁfr '

- |PT.O.

(} Scanned with OKEN Scanner




I

h

: tain
"~ which CETt&
22, Networks In special

have :
computers :
dedicated  tasks, prUVISIEg
services to other computers (in

the network), are called
networks.

(a) hierarchical
(b) dedicated server

peer to peer

(c)
Jgi] ~ client-server

23. The filename and filename
extension are separated by a

(a) " dollar ($) .

Ab) dot ()
(c) underscore ()

(d) hash (#)

24. Amit and his friends are working
on a spreadsheet for entering
data and updating records, They
wish to keep a track of changes.
Which of the following optjpns
will help in knowing whgo made
the changes and what chﬂnges
were done in the spreadsheeﬁ,

_&ﬂ View ‘cﬁanges

(b) Record changes

- [c) Store changes

22.

23,

24.

(@) TR |
(b) 3fEHes R ‘
(c) Hrm g dRR i
(d) Femge-TeR :

WO I BT W 5 gy
g e o S )

(a) STeR ($)
(b) e ()
(c) 3T ()

(d) & (#)

I ik 3% e T o w0 M
e smee w7 ¥ fi 0w g @
M R §1 I gitadst o 3o @ T
B 9 1 A -7 ey gg a7
Heg HM % Trevfiz § frgy ofed N
% 3R T w7 g a7

(8) =1

(b) Foeté S

© ¥ - -
@) TR

48
w8
G
2
e
5

(10)

___.-‘-“‘/
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FSHA programme - 25, dia {DIKSHA]

76 D ciated With B 27

: cation v
(@) higher g (a) I foiam

o school education
(c) medical education fulisi) : 1

d technical education

26, SWAYAM PRABHA was initiated (d) m
by - e

T SR

(a) Umversxty Grants 'F:[trm lﬁ* Ean
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28, According to National Education
Policy, 2020 (NEP-2020), the
previous 10 + 2 education system
or pattern was replaced by

e 5+3+3+4

(b) 5+4+4+3
() S+5+3+4

(d) None of the above

29, Students’ Examinations should
be held to

(a) assess students’ skills
f6) identify learning problems
(c) identify the level of learning

(d) rank students for selection
or upgradation

30. The main . objective of
Foundational Literacy and
Numerﬂcy (FLN) is

/[ﬁ] to ensure that every student
achieves foundational
literacy numeracy by the
end of grade 3 -

~ (b) to focus on d1g1tal sl-ujjs of
o7 istudents

(c) to ensure that every Etlldent

achieves Minimym

_ mathematics achlevement
by t thc end of grade 5t "_ '

~(d) “None ‘?_T-';heabove

g, ura faan Aife, 2020 ( _ﬁqm

F arEn, froeft 1042 ﬁm,urgﬁ

ﬂﬁaﬁﬁm%mwﬁWM%ﬁm
(a) 5+3+3+4
(b) 5+4+4+3
(c) 5+5+3+4

(d) 374 A & e T

29, B @ TOETC fRE for amify
St =T ?

(ﬂ’m%%#haammmnmh
) it wwenat S 9REn Wy
mqﬁﬁ%wﬁ%mmh
m;;rwmmn%ﬁﬂmﬁﬁh

30. SRSV feretEt U =pteht (awoEd
1 T 3 §

() 7% Gt w5 i v oA I
& 370 T TEIg He S
STH %l B

- (b) BHE ¥ ffrem Pwa R EA
RTHT

(©) asghfaamﬁsmwﬂ!

* maﬁwwﬁmm@
AR :
| @) mﬁw.ﬁﬁﬁ'ﬁh -
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» B

i one of the following is not | 31, fy=feiitad 64 7 =

~Whi¢ e iteracy - LG Pr———
Q’ﬁ.' o pillar of Fm”“j“;;[;m” Literacy HEITATFAl {"-'FHT{H:TI_:U ¥ WHE%
and Numeracy (FLN) 27 ' Al
(a) Educational infrastructure (a) PN ——
/‘bl Teacher recruitment (b) forere o]
(c) Basic health o T
i outcomes
(d) Learning (d) foaror 3 witemy
i ids during
use of teaching ai )
. E;ihing focuses on 32, & & SN e wers ami
g fehe W hi=a #7

|| (a) attracting student’s

attention in the classroom @) F >

| (b) to control indisciplined (b) BT T T B T
nature of students Frifird FOT
ing learning outcome - . :
(c] ;?:;ndc;ntgs (c) ol % HiEd & i Fi qgH
_d) effective engagement of (d) € % sl a1 ittt 3 o
students in learning tasks or et wrfiard]
activities
33, U T FE UF FHI L, P R
33. E;I:lagrt classroom is a classroom o N % am i
L IR
_{i} smart portion with a touch J
panel control system (i) /A9 Cotil
(i PC/Laptop connection (iii) i giRas
[14) educational softwares fiv) S 3t Gh
) projector and screen
Fife -
TERE ggﬁmaﬂaﬂ
Select the correct option from et
the code given below : 3 (i)
; a a-)_r_fa 1 [{)
@ ) and (ii) only @) f) ;
b fi)and iv) onty (b) et (ii) A (iv]
() = () (i) 3

;’ 0, @) and (i) only
VA S
ol soove s 0

(13)
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::a;llnfa; first as it begins the

rocess  ©of conducting a
comprehensive evaluation’ of an

early childhood program?’ -

Reviewing the programs
VH' current phrlosophy, goals

and objechvos

(b)) Comparing - the current
year’s level of success ‘o that
of the previous few years %

teaching staff sorted by
. years off- . | clgosroom
experience _. . ¥iid

.:-""'n"".l'lf Lo

! SAL e
(@ Assoosrng the performance
of teachers, admmrotrators
and staff for the current yea.r

’ 'l

36, Which ohannel of
| SWA
PRABHA - ‘is asooorated YAM

4yi; 1anguage and htoratu:ep
) VAGEESH
(b) - SANSKRIT] I
lﬂ) PRABODH IL%

h 'Wlth

J},g
| RO

111, 3n X

[c) Creating a list of. current'

“(a) % A, v
(b "mﬁomomom

36. mwmﬁﬂ-m%qawaﬂwﬂ“

L0

]

(d) iﬁﬁ?ﬂ“ fpmith

(b) e i ‘
(c) afipmg ST |

(d) 37w 3 & i

ﬁq’mﬂﬁﬂﬂﬂ-ﬁmw
mzﬂqwmmm
& WYE TmeT weEy

m%mﬁm’ﬂawa

Trrr

vl ) gflE F

ﬁoﬁ@aﬂ’iﬂm

_(c) . T FH I % T F AW
maﬁmﬁr&aﬂraﬁaﬁaﬁﬁ
r@m |

(d) aﬁafi%:ﬁﬂt{ﬁroﬁ mrmﬁair
t.,.m&ﬁ#mﬁmmm

ﬁgogan%?
{a] ElFﬂ?T R [
) w0

L Ler 4
1 s rll SRR N ¥
PRI R SRS RS e ¥

£ i

L(c) T A

".f"_l[1;_‘,-‘-'“';!-}-'_;:‘-.. R L] e
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fence in indirect SPeeg
* jaimed, “and prove my

blhtles
nﬁdeﬂtly exclaimed that sh@
Sh capablllty '

nﬁdel‘lﬂ}' expressed that g

Sb; (0 prove her capabilities,

choﬂse (he correct spelling,

' Sacﬂlegmus
(Ul S acrehgﬂﬂus

0’ Saclﬁs‘.“’“
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W%ﬁnm & U w3 feaw @ W 03wt @ & 3 |
: ”ﬁ“ﬂﬁaﬁmﬂiﬁmﬁa‘%ﬂ%m;
19 Hgars fertist g w30 3 g fenisrs 3/ 2/ 3 w3

a“?#jaf 3, 7 ¥t How 73 ey b

/733 et Qe i wee' @ s g w2 o g o R

e T57/5/899s 199 59 198 wes A 3
) ﬂ?ﬁaa.' Ly

[P.T.'D‘ ‘l.:#j
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